K ART P ARTS

CARENATURE
BODYWORKS M8
D
B1
C
A
.

112

In vigore dal - Effective from 15-12-2021




@ | | [l( OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

M8 BODYWORKS

Description

0306.AEP 70V hik° 13- MK20 MK20 front fairing hom.0003-BF-19 ¥18,200 ¥20,020

A |0306.FAP 70V b2k 13- M8 ONLY M8 front fairing ¥15,200 ¥16,720
B1 |0302.GA 70YMC )b M8-KIT M8 Pearl front spoiler kit + yerllow number plate ¥35,000 ¥38,500
B2 M8 Light Blue front spoiler kit + yerllow number plate ¥0
B3 M8 Blue front spoiler kit + yerllow number plate ¥0
B4 M8 Black front spoiler kit + yerllow number plate ¥0
B5 M8 Red front spoiler kit + yerllow number plate ¥0
B6 M8 Green front spoiler kit + yerllow number plate ¥0
C |0302.GA1 707 )k MBMINI M8 front spoiler ¥30,800 ¥33,880
D |0300.ADP B4M i yJZ M5-8 (MINI) M5 / M8 side box ¥13,700 ¥15,070
0302.G02 M7-M8 FIN*-7° b~ M7 / M8 yellow number plate ¥9,900 ¥10,890
0305.FOC J0YMC 207AT- M7/M8-MK20 CIK/190mm M7/M8-MK20 lower spoiler's support ¥2,700 ¥2.970

F  |0305.BA 70U MC 2 A7~ M8 CIK Lower spoiler's support ¥2,600 ¥2.860
G [0304.FB 70V)\° 2427~ M8 ROOKIE CIK 1pc Upper spoiler's support for Mini CIK-FIA ¥2,600 ¥2.860
H [V.TB4X12 9y~ 4x12 TB screw 4x12 mm ¥60 ¥66
I [RP.4X8 J95v- D.4x8 Washer @ 4x8 mm ¥10 ¥11
J  |p.M4AB. 093y MMA4(F40Y) AB. nut M4 ¥20 ¥22
K |v.TB6X16 i 4291~ 6x16 TB screw 6x16 mm ¥50 ¥55
L |RE®6 A2°U55" 9959~ D.6x12 Spring washer @ 6 mm ¥20 ¥22
M |0304.FOA J0UN° 2 A7-Hifi - b M6-7-8 Upper spoiler's support stiffener ¥1,900 ¥2,090
N |V.TB5X16 i 9YAIY1- 5%x16 TB screw 5x16 mm ¥80 ¥88
0 |[RES5 A2°Y5° 9959~ D.5 Spring washer @ 5 mm ¥20 ¥22






